KRCNA 35 committee meeting

3/12/22 Bowling Green, KY

Meeting opened at 3:41 PM

Chair

- Louisville area were not able to host a fundraiser. However, Louisville donated the fundraiser seed money to KRCNA 35 in the amount of \$450. Check was given to the treasurer.
- Travel expenses—going forward, committee members can submit gas receipts for reimbursement. Submit receipts to treasurer.

Treasurer

- Paypal account need to set up Paypal account so that funds there will transfer into bank account. Joe will assist with setup.
- Patti will complete Direct Bill Application with hotel and return to Angel.
- Liability Insurance and merchandise invoices have been paid.
- Balance today (not including Paypal and outstanding checks) = \$7095.46

Hotel & Hospitality

- Banquet Event Order items being finalized
- Brunch tickets will go for both Saturday and Sunday for \$9.95. Brunch is 6:30-10AM.
- Room hours finalized. See previous email sent.
- Itinerary sent to hotel
- Final walkthrough confirmed for 4/2 at 2:30 PM. Boardroom will be available for meeting
- Updated room block 25 rooms reserved
- Speaker Jam set for 3/19 in Evansville--\$300 seed money approved
- H&H will be having a subcommittee meeting on 3/13/22 via zoom

Registration

- Quote from ABBA for registration packets attached. Total is \$1970.28
- Each registration packet totaled out at just over \$5
- Ordered 72 early bird mugs
- Discussed newcomer packets—would like to charge at least the cost of the packet; may use inventory from previous conventions

Merchandise

- Inventory report attached with minutes
- \$2241.21 merchandise invoice paid
- · Tablecloth is in production
- Will order two additional jackets for convention; needs to be lighter color and polyester

Design for committee t-shirts finalized

Entertainment

- Report emailed and attached with these minutes
- Plan is to purchase a new bunny suit
- Confirmed dance floor; will add to BEO—dance to be held in main ballroom A
- Asking for donations for games; will also purchase a few
- Pool Party set for 53 ppl—9-11 PM

Programming

- All chairs confirmed, except midnight speaker meetings—still working on speakers for midnight as well
- 85-90% confirmed/covered
- Taping getting quotes from multiple vendors will have taping finalized asap.

Banners—Joe will get with Tony to get banners from storage in Owensboro.

Upcoming Schedule

3/19/22	Hospitality Room Fundraiser Evansville (see flyer attached)
3/26/22	Committee Meeting in Owensboro @ 2:30 PM Unity Fellowship Church 615 Allen Street
4/2/22	Hotel Walk-Through and Committee Meeting @ 2:30 PM Bowling Green
	Holiday Inn 1021 Wilkinson Trace
4/9/22	Committee Meeting in Owensboro @ 2:30 PM Unity Fellowship Church 615 Allen Street
4/15/22	KRCNA 35!!

KRCNA XXXV PROGRAMMING SCHEDULE

Friday April 15, 2022	Red Ball Meeting	4:00 pm Main Ballro		
15, 2022	Workshop- Why are we here?	5:00 pm	Mtg Room 1 -2	
	Main speaker	7:30-9:00 pm	Main Ballroom	
	Pool Party	9pm-11pm	Pool area	
	Game Room	9:00 pm	Salon C	
	Midnight speaker	12:00 am	Mtg Room 1-2	
Saturday April 16, 2022	Morning Meditation	7:45 am	Salon A	
2022	AM Workshops	9:00 am		
	KISS- Keep It Simple		Mtg Room 1-2	
	Work the Steps or		Salon A	
	F.E.A.R.		Salon B	
	1,23,211	10:30 am		
	CAR/CAT HOMEGROUP ASSEMBLY		Mtg Room 1-2	
	What Can I do?		Salon A	
. Cardon	Leap of Faith (sponsorship)		Salon B	
	LUNCH BREAK	12-1:30 pm		
12.00	Afternoon Workshops	1:30 pm		
	My head says "no", HP says "yes"		Mtg Room 1-2	
	One Ultimate Authority in service		Salon A	
	NowAnything is Possible		Salon B	
	140 W Hydding is 1 costers	3:00 pm		
	Walk Across		Mtg Room 1-2	
	Growing Up In Recovery		Salon A	
	I Wanna Know What Love Is		Salon B	
	DINNER BREAK	4:30-7:00 PM		
	MAIN SPEAKER State and Area recognition Clean time count-up	7:00 pm	Ballroom A-B-C	
	Dance	9:30 pm	Ballroom A-B	
	Auction	9:30 pm	Mtg Room 1-2	
	Midnight Speaker	12:00 am	Mtg Room 1-2	
	Game Room	9:30 pm	Salon C	

KRCNA XXXV PROGRAMMING SCHEDULE

Sunday April 17, 2022	KRCNA Bunny/ treats	9:00 am	
17, 2022	Main Speaker	11:00 am	Ballroom A-B
OTHER	Registration		Pre-Function
OTTE	Friday	4pm-7pm 9pm-12am	
	Saturday	7am- 12 pm 1:30pm-5pm 6:30pm-7:pm	
	Sunday Early Bird	8am-11am	
	Merchandise		Mtg Room 3-4
300	Friday	4pm-7pm 9pm- 12am	
	Saturday	7am- 12 pm 1:30pm-5pm 6:30pm-7:pm	
	Sunday- Alternative Merch	8am-11am	Pre-Function
	Hospitality		Mtg Room 5
2	Friday		
	Saturday		
	Sunday		



ESTIMATE

KRCNA 3920 ST. JOE EVANSVILLE IN 47720 USA **Date** Mar 3, 2022

Expiry Mar 15, 2022

Quote Number QU-20456 ABBA PROMOTIONS, INC. 322 2nd St Henderson, KY 42420 270.827.5577

JOE- KRCNA 35- REGISTRATION SUPPLIES

Description	Quantity	Unit Price	Tax	Amount USD
JOE- 812.455.0105; jlgesser@msn.com KRCNA 35- REGISTRATION SUPPLIES				
EVENT DATE EASTER WEEKEND APRIL 15/16/17 2022				
BILLING ADDRESS- 4614 E. SYCAMORE ST EVNASVILLE, IN 47714				
SLING PACK-, APP. 14 X 16, - BLUE WITH WHITE IMPRINT	300.00	2.25		675.00
THE SMOOOOTH PEN- BLUE WITH WHITE IMPRINT	300.00	0.65		195.00
CUSTOM MAGNET- CALENDAR + LOGO	300.00	0.85		255.00
CUSTOM BLUE LANYARDS WITH WHITE IMPRINT WITH J-HOOK	300.00	1.00		300.00
CUSTOM FULL COLOR BADGES WITH HOLE PUNCH- APP. 3 X APP.6- FRONT LOGO- BACK-SCHEDULE- LAMINATED	300.00	0.50		150.00
MUO mug 16 oz Two-Tone Ceramic Bistro Mug blue mug	72.00	5.49		395.28
			Subtotal	1,970.28
		TO	TAL USD	1,970.28